Section 3 Session 6

11— 1 20+10 =
0O 10 20 30 L 50 60 70 80 90 100 i
2 90-+10 =
1 10 divided by 10 is _
3 60=+10 =
so 10+ 10 =
'k 70+10 =
2 20 divided by 10 is 5 10+ 10 .
so 20+ 10 = 6 30-=10 =
3 30 divided by 10 is 7 50+10 =
so 30+ 10 = 8 LO+10 =
& 40 divided by 10 is i 80 + 10 R
o 40+ 10 & iE8 100 + 10 =
o ~ ANSWER
5 50 divided by 10 is ' 5 :
so 50+ 10 =
6 60 divided by 10 is How many boxes of 10 will be filled by
so 60+ 10 = 1 20 eggs?
B3 70 divided by 10 is B 50 eggs?
o 70+ 10 = BN 80 eqgs?
e i ll» 40O eggs?
- 8 80 divided by 10 is s ‘
5 30 eqggs?
so 80 =10 = _
6 60 eggs?
9 90 divided by 10 is
7 10 eggs?
so 90 + 10 = 8 70 eqgs?
10 100 divided by 10 is 9 100 eggs?
so 100 + 10 = 10 90 eggs?
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